CORRECTION TO “CLOSURE OF PRODUCTS
OF FUNCTIONS™

D. G. BOURGIN

Page 811, line 7. Replace F(t) by c(t) F(2).

Page 811, line 10. Replace corresponding by largest.

Add to postulate (a) T(E) admits no finite basis.

Page 813, lines 13 and 14. Replace (b’) and (¢') by (b'") and (c'’).

In footnote 13 replace E by I, and The sets - - - also by The se-
quence {#'s*} - - - also.

Page 814, line 25. Replace the set F(¢), ¢.(t), =1, -+, n, is
linearly independent by F(f) is not linearly dependent on ¢,(¢),
o=1,---,m

INSTITUTE FOR ADVANCED STUDY

1 This Bulletin, vol. 46 (1940), pp. 807-815.
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